[image: image1.emf]Asymptote   -  the curve gets 

closer and closer to this line but 

never touches it

Basic shape

The hyperbola

Basic equation    y = a    or xy = a

x

Both parts of the curve are needed

Note the symmetry about the asymptote 

intersection


[image: image2.emf]horizontal asymptote, 

     equation   y = 3

vertical asymptote

equation   x = -2

y =   6    + 3

x + 2

curve moved up 3

curve moved across to -2

(remember false sign in the bracket)
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Counting from the

intercept of asymptotes


